

1.1 周作业

1.1  $\chi_A = (t-1)^2(t+1)^3 t^2$ ,  $\mu_A = (t-1)^3(t+1)^3 t^2$   
 $\Rightarrow J_A = \text{diag}(J_3(1), J_1(1), J_3(-1), J_2(0))$

1.2  $A = \begin{pmatrix} 2 & 3 & -3 \\ -1 & 10 & -6 \\ -2 & 14 & -8 \end{pmatrix}$

$\chi_A = (t-1)^2(t-2)$   $\left\{ \begin{array}{l} (A-E)(A-2E) = \begin{pmatrix} 3 & -15 & 4 \\ 3 & -15 & 9 \\ 2 & -20 & 12 \end{pmatrix} \neq 0 \Rightarrow \mu_A = \chi_A \Rightarrow J_A = \begin{pmatrix} 1 & & \\ & 1 & \\ & & 2 \end{pmatrix} \\ \text{rank}(A-E) = \text{rank} \begin{pmatrix} 1 & 3 & -3 \\ -1 & 9 & -6 \\ -2 & 14 & -9 \end{pmatrix} = 2 \Rightarrow J_A = \begin{pmatrix} 1 & & \\ & 1 & \\ & & 2 \end{pmatrix} \end{array} \right.$

$A = \begin{pmatrix} 4 & 7 & -3 \\ -2 & 4 & 2 \\ -4 & 10 & 4 \end{pmatrix}$

$\chi_A = (t-2)(t^2-2t+2) = (t-2)(t-1+i)(t-1-i) \Rightarrow J_A = \begin{pmatrix} 2 & & \\ & 1-i & \\ & & 1+i \end{pmatrix}$

1.3  $\begin{pmatrix} a_{n+1} \\ \vdots \\ a_n \end{pmatrix} = \begin{pmatrix} a & b \\ 1 & 0 \end{pmatrix} \begin{pmatrix} a_n \\ \vdots \\ a_1 \end{pmatrix}$

$\Rightarrow \begin{pmatrix} a_{n+1} \\ a_n \end{pmatrix} = \begin{pmatrix} a & b \\ 1 & 0 \end{pmatrix} \begin{pmatrix} a_n \\ a_{n-1} \end{pmatrix}$

Let  $A = \begin{pmatrix} a & b \\ 1 & 0 \end{pmatrix}$  计算  $A$  的 Jordan 型与特征多项式

$\chi_A = t^2 - at - b \Rightarrow \lambda = \frac{a}{2} \pm \frac{1}{2} \sqrt{a^2 + 4b}$

•  $a^2 + 4b \neq 0$   $A \sim \begin{pmatrix} \lambda_1 & & \\ & \lambda_2 & \\ & & \end{pmatrix}$

$A \begin{pmatrix} x \\ y \end{pmatrix} = \lambda \begin{pmatrix} x \\ y \end{pmatrix} \Rightarrow \begin{pmatrix} ax+by \\ x \end{pmatrix} = \lambda \begin{pmatrix} x \\ y \end{pmatrix} \Rightarrow x = \lambda y \Rightarrow \begin{pmatrix} \lambda_1 \\ 1 \end{pmatrix}, \begin{pmatrix} \lambda_2 \\ 1 \end{pmatrix}$  为特征向量

$\Rightarrow A = \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix} \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix}^{-1} \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix}^T$

$\Rightarrow A^{n-1} = \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix} \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix}^{n-1} \begin{pmatrix} \lambda_1 & \lambda_2 \\ 1 & 1 \end{pmatrix}^{-1}$

•  $a^2 + 4b = 0$   $A \sim \begin{pmatrix} \frac{a}{2} & & \\ & \frac{a}{2} & \\ & & \end{pmatrix}$

$\alpha = \begin{pmatrix} a \\ 1 \end{pmatrix}$  为特征向量  $A \begin{pmatrix} \alpha_1 & \alpha_2 \end{pmatrix} = \begin{pmatrix} \frac{a}{2} & \\ & \frac{a}{2} \end{pmatrix} \begin{pmatrix} \alpha_1 \\ \alpha_2 \end{pmatrix}$

$\Rightarrow A \alpha_2 = \frac{a}{2} \alpha_2 \Rightarrow (A - \frac{a}{2} I) \alpha_2 = \begin{pmatrix} \frac{a}{2} & \\ 1 & -\frac{a}{2} \end{pmatrix} \alpha_2 = \begin{pmatrix} \frac{a}{2} \\ 1 \end{pmatrix} \Rightarrow \alpha_2 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$

$\Rightarrow A = \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^{-1} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^T$

$\Rightarrow A^{n-1} = \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^{n-1} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^{-1}$

$= \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^{n-1} \begin{pmatrix} \frac{a}{2} & 1 \\ 1 & 0 \end{pmatrix}^{-1}$



1.4.  $A \sim A^t$  ( $A \in M_n(\mathbb{R})$ )

pf: 复相似

$$A \sim \text{diag}(\dots, J_{k_i}(\lambda_i), \dots)$$

$$\Rightarrow A^t \sim \text{diag}(\dots, J_{k_i}^t(\lambda_i), \dots)$$

只需证明  $J_k(\lambda) \sim J_k(\lambda)^t$

同秩:  $\text{rank}((J_k(\lambda) - \lambda I)^2) = \text{rank}(J_k(\lambda) - \lambda I)^2$

④ 若  $J = (e_1, \dots, e_k) \begin{pmatrix} \lambda & & \\ & \ddots & \\ & & \lambda \end{pmatrix} (e_1, \dots, e_k)^t$   
 $J^t = (e_k, \dots, e_1) \begin{pmatrix} \lambda & & \\ & \ddots & \\ & & \lambda \end{pmatrix} (e_k, \dots, e_1)^t$

复相似:  $\exists P \in GL_n(\mathbb{C})$  s.t.  $A = P A^t P^{-1}$

$$\Leftrightarrow \exists D = R + iP \in GL_n(\mathbb{C}) \text{ s.t. } A = D A^t D^{-1}$$

$$\Rightarrow A(R + iP) = (R + iP) A^t$$

$$\Rightarrow \begin{cases} AR = RA \\ AP = PB \end{cases}$$

$R, P$  可逆 则  $\exists C \in \mathbb{R} \text{ s.t. } P + CP \in GL_n(\mathbb{R})$  (若  $P$  可逆,  $C$  可逆)

$$\Rightarrow A(P + CP) = (P + CP) A^t$$

$$\Rightarrow A = (P + CP) A^t (P + CP)^{-1}$$

rank:  $A, B \in M_n(\mathbb{R})$   $A, B$  复相似  $\Leftrightarrow A, B$  实相似

1.5 (i)  $A \in M_n(\mathbb{C})$   $\text{tr} A^k = 0 \quad k=1, \dots, n \Rightarrow A$  零阵

(ii)  $AB - BA = C \quad AC = CA \Rightarrow C$  零阵

pf (i)  $A \sim \text{diag}(\dots, J_{n_i}(\lambda_i), \dots)$

$$\Rightarrow A^k \sim \text{diag}(\dots, J_{n_i}^k(\lambda_i), \dots)$$

$$\Rightarrow \text{tr} A^k = \sum_{\lambda_i, \lambda_j \text{ 相同}} n_i \lambda_i^k + \sum_{\lambda_i, \lambda_j \text{ 不同}} m_{ij} \lambda_i^k \lambda_j^k = 0$$

$$\Rightarrow \begin{pmatrix} \lambda_1 & & & \\ & \ddots & & \\ & & \lambda_s & \\ & & & \ddots \\ & & & & \lambda_s \end{pmatrix} \begin{pmatrix} m_1 \\ \vdots \\ m_s \\ \vdots \\ m_s \end{pmatrix} = \begin{pmatrix} 0 \\ \vdots \\ 0 \end{pmatrix}$$

$$\text{由 } \begin{pmatrix} \lambda_1 & & & \\ & \ddots & & \\ & & \lambda_s & \\ & & & \ddots \\ & & & & \lambda_s \end{pmatrix} \text{ 可逆 } (\lambda_i \neq \lambda_j) \Rightarrow m_1 = \dots = m_s = 0 \text{ 不可逆}$$

$$\Rightarrow \lambda_i = 0 \quad \forall i$$



$$1. i) \operatorname{tr} C = \operatorname{tr}(AB - BA) = \operatorname{tr} AB - \operatorname{tr} BA = 0$$

$$\operatorname{tr} C^2 = \operatorname{tr}(AB - BA)(AB - BA) = \operatorname{tr} CAB - \operatorname{tr} CBA = \operatorname{tr} ACB - \operatorname{tr} CBA \\ = \operatorname{tr} CBA - \operatorname{tr} CBA = 0$$

$$\operatorname{tr} C^k = \operatorname{tr} C^k AB - \operatorname{tr} C^k BA = \operatorname{tr} AC^k B - \operatorname{tr} C^k BA = \operatorname{tr} C^k BA - \operatorname{tr} C^k BA = 0$$

$$\Rightarrow C = 0$$

$$2. A \in \operatorname{Mat}(\mathbb{C}) \quad e^A := \sum_{i=0}^{\infty} \frac{A^i}{i!}$$

$$\therefore e^0 = I_n$$

$$\cdot \det e^A = e^{\operatorname{tr} A}$$

$$\cdot \operatorname{tr} e^A = e^{\lambda_1} + \dots + e^{\lambda_n} \quad \lambda_i \text{ 为 } A \text{ 特征值 (取相同)}$$

$$\text{pf: } A = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1}$$

$$\Rightarrow A^k = P \begin{pmatrix} \lambda_1^k & & * \\ & \ddots & \\ & & \lambda_n^k \end{pmatrix} P^{-1}$$

$$\Rightarrow e^A = \sum_{i=0}^{\infty} \frac{A^i}{i!} = P \left( \sum_{i=0}^{\infty} \frac{\begin{pmatrix} \lambda_1^i & & * \\ & \ddots & \\ & & \lambda_n^i \end{pmatrix}}{i!} \right) P^{-1} = P \begin{pmatrix} e^{\lambda_1} & & * \\ & \ddots & \\ & & e^{\lambda_n} \end{pmatrix} P^{-1}$$

$$\Rightarrow \det e^A = e^{\lambda_1} \dots e^{\lambda_n} = e^{\operatorname{tr} A}$$

$$\operatorname{tr} e^A = e^{\lambda_1} + \dots + e^{\lambda_n}$$

$$\cdot \frac{d}{dt} e^{tA} = A e^{tA}$$

$$\cdot AB = BA \Rightarrow e^{A+B} = e^A \cdot e^B$$

$$\cdot (e^A)^{-1} = e^{-A}$$

$$3. A \in GL(n, \mathbb{C}) \quad \exists \sigma: [0, 1] \rightarrow GL(n, \mathbb{C}) \text{ 连续且 } \sigma(0) = A \quad \sigma(1) = I_n$$

$$\text{pf: } A = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1}$$

$$\text{令 } \sigma_1(t) = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1} \Rightarrow \sigma_1(0) = A \quad \sigma_1(1) = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1}$$

$$\text{令 } \sigma_2(t) = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1} \quad \text{令 } \sigma_2(0) = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1} \quad \sigma_2(1) = P \begin{pmatrix} 1 & & * \\ & \ddots & \\ & & 1 \end{pmatrix} P^{-1} = I_n$$

$$\text{令 } g_i(t) \text{ 为 } \mathbb{C} \text{ 中连接 } \lambda_i \text{ 与 } 1 \text{ 的曲线 } g_i(0) = \lambda_i, \quad g_i(1) = 1 \quad g_i(t) \neq 0 \quad \forall t \in [0, 1]$$

$$\text{令 } \sigma_2(t) = P \begin{pmatrix} g_1(t) & & * \\ & \ddots & \\ & & g_n(t) \end{pmatrix} P^{-1} \quad \sigma_2(0) = P \begin{pmatrix} \lambda_1 & & * \\ & \ddots & \\ & & \lambda_n \end{pmatrix} P^{-1} \quad \sigma_2(1) = P \begin{pmatrix} 1 & & * \\ & \ddots & \\ & & 1 \end{pmatrix} P^{-1} = I_n$$

$$\text{将 } \sigma_1 \text{ 与 } \sigma_2 \text{ 连接起来令 } \sigma(t) = \begin{cases} \sigma_1(2t) & 0 \leq t \leq \frac{1}{2} \\ \sigma_2(2t-1) & \frac{1}{2} \leq t \leq 1 \end{cases} \text{ 为所求}$$

